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The booklet contains OMR sheet and having two
seals. Candidates will first open the booklet by
removing the seal at the top to get the OMR sheet.
Second seal will be removed two minutes before the
commencement of the examination.

Before starting the Examination, the candidate must
write her/his Roll Number in the Question Booklet
and the OMR Answer Sheet; in addition to putting
signature at the places provided for the purpose.

This Question Booklet consists of this cover page, and
a total 100 items. Use Blank pages available at the
end of Question Booklet for rough work.

There are four alternative answers to each item
marked as (a), (b), (c) and (d). The candidate will have
to select one of the answers that is considered to be
correct by her/him. S/he will mark the answer
considered to be correct by filling the circle.

Use black/blue ball point pen to darken the circle.

See the following illustrations.

[llustration:

1. Thesum of 20 and 12 is

(@) 32 (b)38(c)31(d)34

The Correct answer of item 1 is (a), which should be
marked in OMR Answer Sheet as under:

3 1000

Half filled, faintly darkened, ticked or crossed circles
will be read as wrong answers by the optical scanner
and will be marked as incorrect.

The OMR Answer Sheet must be handed over to the
invigilator by the candidate before leaving the
Examination Hall.

Keep OMR Sheet straight. Do not fold it.

All questions are compulsory, each question carries
one mark.

Incidence of carrying of calculator/mobile/any
electronic  device/objectionable material will be
treated as unfair means case.

Controller of Examination
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Please note that in case of any confusion, the question printed in English will be considered final.







2

Subject Related

&l TATE 3N T THTST AT 7 FHSOT§
a) &Asw fAgoT

b) 3ififCewe afsra

c) SFHCRICE

X X

d) eaeed

@M (3R, 4R)-3,4-EHUETRFET F T

AeeRad o FT T FaT g ¢
a) 3Jg IAfANF R &I

b) =& AfNE FT TN (3S, 4S)-3,4-

SIsfAUSRF Bl

c) ug AfAF (3R, 4S)-3,4-sEAUETTHAT
FI SRTNIAF gl

d) 3WIFd gl

Aafaf@a aiffe & Faa 3maf@a sea
qTATT AiSig &7

HiC'y i NCH(CHa),

H3C
a) 0
b) 1
c) 2
d) 3

AEN $HA3S & TAT HleT AT FHUT FET T8I 87

a) faferse Jeore 02 &
b) THTUAT T HS FHLRIAA el gl

c) TH U] 39« gUoT Gfafees & FAe grar

gl

d) TH ¥ 3w TERESES Gy Ao @

Ui

Teh Uochel St 3HifCeahar 1fafaf®r wefld
Hhdl & T8 &

a) fades

b) 3mSHEIGCH

c) 3-A¥eRFaT

d) 3-fAuEce

1

2

3

4

A mixture of equal amounts of two
enantiomers 1s

a) aracemic mixture

b) optically active

c) dextrorotatry

d) levorotatory

Which of the following statements is

(are) true for the compound (3R, 4R)-

3,4-dimethylhexane?

a) This compound is chiral.

b) The enantiomer of this compound is
(3S, 45)-3,4-dimethylhexane.

¢) This compound is a diastereomer of
(3R, 4S)-3,4-dimethylhexane.

d) all of the above

How many asymmetric carbon atoms
are present in the following compound?

H "O\
3C CH(CH3),

H;C

O

T Q
S = N N

0
1
2
3

o

Which statement is not true for a meso

compound?

a) The specific rotation is 0°

b) There is no plane of symmetry.

¢) A single molecule is identical to its
mirror image.

d) More than one stereogenic center
must be present.

An alkane which can exhibit optical
activity is:
a) Neopentane

b) Isopentane
c) 3-Methylhexane
d) 3-Methylpentane
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a) NO,
b) NH,
c) NHCOCH;
d) CN
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a) doSd FARES

b) m-FARIEIegZ
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a) [PdCl*

b) [PtClJ*

c) [NiClJ*

d) [AuCly

6 Replacement of hydrogen of benzene
by alkyl group in the presence of alkyl
halide & aluminum chloride is known

as

a) Dows process

b) Friedel-Craft acylation
c) Friedel-Craft alkylation
d) Clemmenson alkylation

7 Which of the following is the most
activating in electrophilic aromatic
substitution?

a) NO»

b) NH:

c) NHCOCH;
d) CN

8 Chlorination of toluene in the presence
of sunlight produces
a) Benzyl chloride
b) m-chlorotoluene
c) p-chlorotoluene
d) benzoic acid

9 NHs has point group symmetry of
a) GCs
b) Cyy
c) Can
d) C3V

10 The molecule with an S symmetry
element is-
a) B2Hs
b) CHs
C) PH;5
d) SFs

11 Which of the following complex ions is
tetrahedral?
a) [PdACL]*
b) [PtCL]*
¢) [NiCls]*
d) [AuCls]
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[CoCL(NH3)4NO, 3K

frar Srar &7
a) B3

b)  3TI=ATRIOT
c) ket

d fRufa

Tqsherhrd [CoCly)> # 3YRTAT Solerciall &I

& g/
a) 1
b) 3
c) 5
d 7

FrFceied [Ni(CO)4] &1 g gaer §
a) WS

b) ufadgedra

c) diggEdhT

d) TS

farafaf@a & @ #iad oo &7 fordls ¢
a) I

b) Br

c) CN

d F

[Mn(CN)s]* & Mn** & v 3w

SoIFCiell ST TEIAT §

a) 1
b) 3
c) 4

d 5

[CoCI(NO»)
(NH3)4]Cl garT o8 YR &7 FATGIddT Yaieid
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Jahn-teller effect is not observed in
high spin complexes of-

a) d*

b) d°

c) d

d d’

Which type of isomerism is shown by
[CoCl2(NH3)4]NO2 and [CoCI(NOz)
(NH3)4]Cl1

a) Hydrate

b) Ionisation

c) Linkage

d) Position

The number of unpaired electron in
tetrahedral [CoCl4]* is/are

a) 1

b) 3

c) 5

d 7

The magnetic behaviour of complex
[N1(CO)4] 1s

a) paramagnetic

b) diamagnetic

c) ferromagnetic

d) antiferromagnetic

Which of the following is strong field
ligand

a) I

b) Br

c) CN°

d F

The number of unpaired electron for
Mn?" in [Mn(CN)e]* is

a) 1

b) 3

c) 4

d 5
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Seg-TesY fATHAT & sew & v vehey
B AT FLAT &
a) 1,2 addition
b) 1,4 addition
c) 2,3 addition
d) 3,4 addition
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R fRar ST g2
a) Sllge Heele
b) Uealel HEslel
c) ForleT HaJoT
d) sEHRdd TuaAd

a, B-3Tqed 3Fe & 3G §
a) Claisen reaction

b) Sandmayer reaction

c) Hoffman reaction

d) Perkin reaction

afer AN iRt & Ty vfesges ar
FICIed & Tl §
a) Aldol condensation

b) Claisen condensation
c) benzoin condensation

d) Knoevenagel condensation

eAfaf@a & & Sl a1 ufesgss vesta
AfAfFaT Sar ¥

a) CgHsCHO
b) CH,CHO
c) CCl,CHO
d) HCHO

TE & H gegifeiad &l o™ QU a7w &9 #
Y ST ST §

a) TOIfAThher

b) graTTE el
c) TR wEelifthahere
d) uredfheea
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Diel-Alder reaction involves following
addition of alkenes to dienes

a) 1,2 addition

b) 1,4 addition

c) 2,3 addition

d) 3,4 addition

Ethyl acetoacetate is prepared from
ethyl acetate by the

a) benzoin condensation

b) Aldol condensation

¢) Claisen condensation

d) Dieckmann condensation

a, B-unsaturated acid is the product of
a) Claisen reaction

b) Sandmayer reaction

¢) Hoffman reaction

d) Perkin reaction

The condensation of aldehydes or
ketones with active methylene
compounds is

a) Aldol condensation

b) Claisen condensation

¢) benzoin condensation

d) knoevenagel condensation

Which of the following aldehyde give
aldol reaction

a) CsHsCHO

b) CH3CHO

c) CCI3CHO

d) HCHO

The basic hydrolysis of esters is also
known as

a) Sponification

b) transesterification

c) Fischer esterification

d) Esterification
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a) [2,3] g geedaear

b) 12,4] R qeedaEar

) [1,5] Reacits geredawar

d) [3,3] Reacife grcdae
28 3ryey-Uesy fATHAT §

a)
b)
c)
d)

[2+2] thermal cyclization
[4+2] photoaddition
[4+2] cycloaddition
[3+3] photoaddition
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24 Which alkyl halides is more reactive in

dehydrohalogenation reaction

a) Primary
b) Secondary
c) Tertiary
d) Methyl

Which carboxylic acid is more acidic
among the following
a) propanoic acid

b) 7y-chloro propanoic acid
c) PB-chloro propanoic acid
d) a-chloro propanoic acid

The electrocyclic reaction for ground
state of hexatrienes

a) Conrotatory

b) Disrotatory

¢) Conrotatory or Disrotatory
depending on reaction temperature at
which reaction is carried out

d) Cannot be predicted

Claisen rearrangement is an example of

a) [2,3] sigmatropic rearrangement
b) [2,4] sigmatropic rearrangement
c) [1,5] sigmatropic rearrangement
d) [3,3] sigmatropic rearrangement

Diels-alder reaction is a
a) [2+2] thermal cyclization
b) [4+2] photoaddition
c) [4+2] cycloaddition
d) [3+3] photoaddition
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a) CH4F
b) CHsCI

c)

CH3B|’

d) CHjl
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For the following concerted reaction
specify the condition and mode of

rotation
CHs

CHs

a) disrotation, photochemical
b) conrotation, photochemical
c) bothaandb

d) none of the above

Select the incorrect statement from the

given statements

a) HOMO is the highest occupied
molecular orbital

b) In conrotatory motion bonds rotate
in the same direction

c) Diels-Alder reaction is a [4+2]
cycloaddition reaction

d) In the suprafacial reaction both
bonds are formed on the opposite face
of the component

A triplet and quartet pattern in 'H NMR
often indicate the presence of a (an):

a) ethyl group

b) isopropyl group

c) propyl group

d) acyl group

How many C-13 signals would 1,4-
dimethylbenzene give?

a) 1

b) 2

c) 3

d 4

Which of the following compounds has
the MOST deshielded protons?

a) CH3F
b) CH3Cl
c¢) CHsBr
d) CHzsl
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SIUEA $W, CH3CH,OCH,CH; % 1H
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a) T& feqelc 3R & sdec

b) T® Faide 3R TH AT
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d ws Rude 3R v Fdrée

fFAfaf@a & ¥ Si9 ar e 1H NMR
TIFCH Sl & T H dhae ar feger 3R w&H
H9Ter grer 82

a) CH3CH(OCH3)2

b) CH30OCH2CH2CH2CH20CH3

c) CH3OCH2CH20CH3

d) CH3OCH2CH(OH)CH3

Rfaeres fafear 7 asiEts aifsgs vass
F gy HAFAT FeF ar &

a) 3-ufAauEiEe

b) 2-vfAAUEIE

C) 4-ufAausdEeT

d) 2-ufAaEYREe

farafaf@a & @ sla @ af@fRar Avgadt &
5T F foar gt 87

a) Sy1 3rfafear

b) Syi fafsar

c) Ar Sy1 Hf&EfRar

d) Sy2 3ifEfe

THIA arel ol Fr 3itad afas a1 #r sgrr
ST e B...

a) 3k 3UTRYid

b) s edT garg

C) dodl diaHAreT

d) 3fASRS FHr AT TG

34 Which of the following combinations
of peaks appears in the 1H NMR
spectrum of diethyl ether,
CH3CH>OCH,CH3?

a) atriplet and a doublet
b) a quartet and a sextet
c) two singlets

d) atriplet and a quartet

35 Which of the following compounds
gives a |H NMR spectrum consisting
of only two triplets and a singlet?

a) CH3CH(OCH3)2
b) CH30CH2CH2CH2CH20CH3

¢) CH30CH2CH20CH3
d) CH30CH2CH(OH)CH3

36 In Chichibabin reaction, pyridine reacts
with sodium amide to give
a) 3-aminopyridine
b)  2-aminopyridine
¢)  4-aminopyridine
d) 2-aminopiperidine

37 Which of the following reaction
undergo without formation of
intermediate?

a) Sl reaction
b) Sni reaction
c) Ar Snl reaction
d) SN2 reaction

38 The average kinetic energy of colliding
particles can be increased by...
a) adding a catalyst
b) increasing pressure
c) Increasing temperature
d) increasing reactant concentration



39

40

41

42

43

Teh TSIy S Tt 3rfAfHar i a3 #r
Seorar ¥ 3k @ & 3 & 39Rafda
qedTed AT ST HhT §

a) 3cule

b) 3RF

c) dfrg aREX

d) sfaferar Fegadt

afsraor Farr 3R AfAfRar & X & &g Fr

et g7

a) o9 IHIT Far 3fAw @iy §, ar fRfwar
T eT Ao g ®

b) & THIUT FT HH BT &, JTATHAT ¥
X efielr gl &

c) oI« FfhIuT Fair M g &, ar fafear
dr g7 el g ¥

d) wfrger Far AR Ak fr X & &im

fArfaf@a & @ #iq ve afrg IR & v

e 872

a) TR 3R &7 PE

b) TR 3R 3T PE

c) 3R IR A PE

d) ¥R IR 3=9 PE

JR-O fafear & sfatranhe Avgadf &
a) Wifad v

b) It SrafehieeT

C) SEFARIAUSA FlafhicsT

d) SEFEART FElel

FeaTedY 3rfAfRar & for, Fafof@a & &
PiT OT T g2

a)

b)

9% Ruedew > 95 Ty Flecagm > @5
3G

NS 3cure > N afp aReRw > NS
ffFRE

9% afrg IRER > 0% 3ifFeRs > 0%
3cUTG

9 afhg IRET > 9% 3careg > 0%
JTAFRF

39 A substance that increases the rate of a

chemical reaction and may be
recovered unchanged at the end of the
reaction is a(n)

a) product

b) catalyst

c) activated complex

d) reaction intermediate

What is the relationship between the

activation energy and the rate of a

reaction?

a) When the activation energy is high,
the rate of reaction is fast

b) When the activation energy is low, the
rate of reaction is slow

c) When the activation energy is high, the
rate of reaction is slow

d) There is no relationship between
activation energy and rate of reaction

Which of the following is true for an
activated complex?
a) stable and has low PE

b) stable and has high PE
c) unstable and has low PE

d) unstable and has high PE

The reactive intermediate in Reimer -
Tiemann reaction is

a) Formyl anion

b) Formyl carbocation

c¢) Dichloromethyl carbocation

d) Dichloro carbene

For an exothermic reaction, which of
the following is true?

a) PE reactants > PE activated complex >
PE products

b) PE products > PE activated complex >
PE reactants

c) PE activated complex > PE reactants >
PE products

d) PE activated complex > PE products >
PE reactants
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¢AS HAUROT & 3R, Aefaf@d & &

T AT e 82

a) Us TFanrafFe fAfRar axor v dshao
HAEAT 3cUTe S 3cUlg S Jeolell A 38
sfFfrarefer gref

b) e HHHUT AUV IH{FhRH I Jofell H
S 3G Bl

c) U varyfFw ifAfhar axor fr dshao
Teufe 3cure & Jorem & e HfAfHarefer
g

d) @ GHAUT AT 3cUTe H Jeolall # TS
sfafranefa g § o

$HT HETT A 38 SER afta fRar o ¥
a) Logk/ko=op

b) Logko—Logk= op

c¢) Logkok= op

d) Logk/ko= -op

S Ueh AT 85 & iy Hifos &9 st
T gROMH gaT §
a) a3 ds 3R GAT g

et & @ &l @1 379] dorsfaed fFerdst &
FROT m/z = 105 WX T dig REx g@mem?

a) g

b) 3msAACETSiT

c) UA-UIIISersioied

d) 3msaEmReedss 3R n-Aasaddeis el
FHTET Jhra &70T & AT Jfahdd ¥

a)  K,;Mn(CN)g

b)  K,MnO,

C) K,MnCl,

d)  KmnO,

44 According to the Hammond Postulate,
which of the following is correct?

45

46

47

48

a)

b)

d)

d)

The transition state of an exothermic
reaction step will be more reactant like
than product like.

All transition states are more
products like than reactant like.

The transition state of an
endothermic reaction step will be more
reactant like than product like.

All transition states are more
reactant like than product like

The Hammet equation is described as

Log k/ko= op

Log ko—Log k= op
Log ko/’k = op
Log k/ko = -op

When fundamental vibration couples
with a combination band it results in

a)

b)
c)
d)

Both overtone band and Fermi
resonance

Overtones

Difference band

Fermi Resonance

Which of the following molecule will
show an intense peak at m/z = 105 due
to benzylic cleavage?

a)
b)
c)
d)

toluene

isopropylbenzne
n-propylbenzene

Both isopropylbenzne and n-
propylbenzene

The effective magnetic moment is
maximum for

a)

K4Mn(CN)g

b) KoMnOs

c)

KoMnCly

d) KMnO4
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39 |¥¥+dr =1, eigenfunctions g

a) 3t
b) EHAIR
c) faof

d)  FHE

AT FfE HT AfATHAT & AT 3-31g @
3R X R & g dey fras garT fear

ST 87

a) In 2/k
b)  1/k[A]
c) [AJ/2k

d) sRed & & FS 78

49 When [$¥*dr =1, the eigenfunctions
are
) Orthogonal
b) Normalized
c) Diagonal
d) Arbitrary

50 The relation between half life time and
rate constant for zero order reaction is
given by
a) In2/k
b) 1/k[A]

c) [A]2k
d) none of the above

Research Methodology

AT T A AT A & ToIw FATT Ueh [y fawr
TR fordY 715 Ue oy RO /fAeer & 9 & S0 Sirar

J

a)  AAE

b)  Rwdew

©) R

d) gy

gdlieh "©" TACIR W 3 dTd WX IR &l o ol
greT R STdT & o 1 garT |Rfaa § ..
a) Ucec

b) 3IeAfeF 3o

c) m

d) ¢sH

Sifeeh duer 1 oot & @ st 71 &9 U FHET
IfRR &7

a) 3w fBarsa
b) sianfos dFa

c) EF\@TIBE

d u9e

10

51 A long report/essay written on a single
specialized topic, devoted mainly for research
works is known as

a) Monograph

b) Dissertation

¢) Inscription

d) Research paper

52 The symbolis “©” is generally used to
emphasize that the work is protected by ...
a) Patent
b) Industrial design
c¢) Copyright
d) Trademarks

53 Which of the following form of Intellectual
Property is a community right?

a) Industrial Design

b) Geographical Indications
c¢) Copyright

d) Patents
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eafaf@d & O forgerr yater ara=ad: T e
AT & T T 3Tehelsl Fle & [T Teh

Hohdeh & &9 & fohar Arar g2
a) W%@W

b) 3TS-1033%FH

c) 3TS-100 S35

d) sFFe B

" HTSTHUHTSA" & 0T &I 8

a) HRAIT ATTsh ATATIOh T
b)  3RTSERT WS ERI AT

) 3RS ATAS RIS AR
d) EfeaaadaaEdras

HR H, Fel TEAh S8 HIURTST HY TG T 7

a) 20
b) 60
c) 100
d) 10

AT Ed # & fohdeh U1 RATIS Jer &
stafore Tohd (ST3TS) ST g

a) HIY TATA

b) TSI AT

c) WI’@I’

d) TR T

e g 1 T o & ahter A TRl
gt 1% # ST HoaT T aerar &t § R 3w

TET FIAT &7
a) WIPO
b) IMF
c) WHO
d) UNESCO

Hepsiclogd gaRT YgFd 3ER "M" &
a) 3 fBamger

b) SITIR EET

c) EF\@TIS?E

d) gsHAT

X
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Which of the following is generally used as an
indicator for judging the quality of a research
journal?

a) h-index

b) i-10index

c¢) i-100 index
d) impact factor

The full form of “ISSN” is

a) Indian Standard Social Number

b) International Search Serial Number
c) International Standard Serial Number
d) Indian Search Society Number

In India, the copyright such as an original book
is protected for ........... after the death of the
authors

a) 20

b) 60

c) 100

d 10

Which of the following is having Geographical
Indications (Gl) tag of Himachal Pradesh?

a) Mandi Rumal
b)  Kangra Tea
¢)  Phulkari

d)  Palampur Rasgulla

Which of the following agencies of United
Nation promotes and protects intellectual
properties across the world?

a)  WIPO

b) IMF

c¢) WHO

d) UNESCO

The letter “M” used by McDonald’s is a

a) Industrial Design
b)  Trade Secret

c¢) Copyright

d) Trademark



60

61

62

63

64

65

Ueh 3gI0T &7 3T § T Ueh AT M 9 W &

a) TRl 35T olEe G gEY YT H 3gd

b)  oIEehl GaRT STEAT

c) ToRdY 35T olEe gaRT AlTE® &9 U Tl I 715
d) o@HI gaRT Hifgfcdes Ay

fAFATITET # & PleT Teh T T8Il AIFCAI 7
a) (GG

b)  3gT

¢ TUsdlke

d) 3s%Ere
Arafaf@a & 3 g gere & §ifgs Tuer
ITRHRY & TR Hetll Tgel3i R FHAS 1
TATelel T 87

a)  wipo

b)  wrto

c) WHO

d) BIRPI

T IS SHu=AT Ty Y gfcadt Y AT el &
T Teh S doheileh AR Ad FLdT &, A 38 3T

Jed Tfaa T ST asharg

a) HrURTST

b) Uéc

o) 3w fEemse

d) SIS AT

At f@d & & i @ af% faeg camaR gerea &
HaTIT8?

a) TRIPS

b)  TRIMS

c) GATS

d) @I TRIPS, TRIMS and GATS

At f@d d 9 i a1 R FHA T FH 10
3EIOTT & [T JhTAAT Shl TEAT T SATAT &2

a) WB?EFH
b) 3TS-1033FH
c) Gﬁ'w
d) sFIFE BheX

12

60

61

62

63

64

65

A citation means that a particular

research paper has been:

a) quoted in another paper by another author
b) paraphrased by the authors

c) discussed orally by another author

d) plagiarized by the authors

Which of the following is a reference
management software?

a)  Turnitin

b) Urkund

c¢) Endnote

d) Undernote

Which  of the
administers the agreement on Trade-related

following  organization

aspects of Intellectual Property rights?

a)  WIPO
b)  WTO
c) WHO
d) BIRPI

If a company develops a new technology to
process tea leaves, it can be protected under
a) Copyrights

b) Patent

c¢) Industrial Design

d) Gltag

Which of the following treaties are related to
WTO?

a) TRIPS
b) TRIMS
c) GATS

d)  AlITRIPS, TRIMS and GATS

Which of the following parameter represents
the number of publications with at least 10
citations?

a) h-index

b) i-10index

c) G-index

d) impact factor



66

67

68

69

70

71

Teh 2T RUTE T oSy gl arfgw

a)  Toesper TR 19T & FATT &1

b)  HTHE NI I gTSTSC AT AT

c)  harel REIE 7 Teqa AT 9X e gl
aRT

d) I3 SITeThRT I Fleil AT

ey ga/ROTE & fore @3 # 3T teha 3R faeeivor

Y TR a1, 39T fgaroT fear Srar g2

a)  foranfafey arepstrar

b) o= 3regemar

) IR

d) Sy Es

R IR K — H 3 AT et &
QNeTfOreh Heafersar sl derar &o 31T arfe foas =l
HT URATH & IR H Joold [haT TAT R |

a) 2006

b) 2010

c) 2013

d) 2018

............ Jgemer gt ROIE & HE&T H0T &7 Teh
TATRTE IEToT T & |

a) afer

b) ¥R

c) T

d wefa

T BIATSET 37T HIATET (RSC) Th §

a) 9

b) T

c) YhIh

d) freme™

AFAfT@d & 9 i 39 i [y dofas
YT IR AGAdH 3R RIS SATAPRT TeTe FT
ThdT g?

a) d’ﬁlfﬁ
b) frare
c) Usdle
d) emguy
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66 The conclusion of a research report should
a) be exactly same as abstract part
b)  Should highlight minor points
c¢) should be based only on material presented
in the report
d) Should introduce new information

67 In which section of the research paper/report
the detail about how data was gathered and
analyzed is given?

a) Method section

b) Introduction section
c) Abstract

d) Conclusion section

68 UGC regulations ................. mentions about
Promotion of Academic Integrity and
Prevention of Plagiarism In Higher Educational

Institutions
a) 2006
b) 2010
c) 2013
d) 2018
69 .o section provides a snapshot of the major

section of the whole report

a) Method

b)  Abstract
c) Discussion
d) Acknowledgement

70 Royal Society of Chemistry (RSC) is a

a) Journal
b) Book
c) Publisher

d) Inscription

71 Which of the following can provide you the
latest and dependable information on a

particular scientific topic?

a) Bibliography
b) Books

c) EndNote

d) Research paper



72

73

74

75

76

77

T WTEIRIET 2018 & 3THR, BT I Teh qY
379 & fore e wenfea e (@fgfcas ar &
FROUT) AT Pt J wfae g s fear s, sie
SHH TATAT &l

a) 5-10%

b) 10-20%

) 40-60%

d) hdel ST 100%

Tl s oR g & wepfRret 2iver b1 veh FfaTor, Sit
AT A WISt STl aTel AHTTAT ITfenaT a¥= hr
g dT Y el §, T H SATAT ST &

a) gHIRTAE

b) T oI

c) URIH\ETT

d) YhaFy

3T T TALVoT 3R carear g

a) IAAAT

b) ¥add

c) FErard

d) AT ITEIIT A Thdle

39T T STeted &, AT o

a) Y[eh ehlel & STG ST3eTells T ST Hehell &
b) SI3AAIS el oh ToIU TAAT ¥ H 3Tl g
c) e & T3NS AGT TehdT ST Tehell

d) 9RR- Reg =& g

fraAfafaa # & wla a1 arfgfeas IR &1 aar
ST aTell AMFed R &2

a) ao_cl?‘rﬂiw_s"

b) had clafee

c) N@Wfﬁﬁﬂm

d) A 3Gs AR A efAfea

e 3R & foaRT a1 fa=RT & 379+ ereei &7 3T
3EI0T & QT TW=1T Hgelldl §

a) arfefegs A%

b) 3€IUT

c) SEafeler

d) RoefAer
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72 According to UGC Regulations, 2018, a student
shall be debarred from submitting a revised
script (due to plagiarism) for a period of one
year when there is a similarity of .........

a)  5-10%
b)  10-20%
c)  40-60%

d)  Only when 100%

73 A survey of previously published research on a
topic, which can identify potential research
areas to be explored in future is known as

a) Review article
b) Research article
c) Bibliography

d) RefWorks

74 Analysis and Interpretation of data are
a) Interdependent

b) Independent
c¢) Same thing

d) Can be same orindependent

75 In open access journals, research articles
a) can be downloaded after paying charges
b) are freely available to download
c¢) can never be downloaded
d) are not peer reviewed

76 Which of the following is Plagiarism detection
software(s)?
a) Only Urkund
b)  Only Turnitin
c) Both Urkund and Turnitin
d) Neither Urkund nor Turnitin

77 To put someone else's ideas or thoughts in
your own words with proper citation is called

a) Plagiarism

b) quotation

c) Jumbling

d) Paraphrasing



78

79

80

81

82

=TT & @ hlet IgEeTe Aifdenar & Fefed
g?

a) SHAGRY

b) fasuerar

c) I@sar

d) 39UFd T

TATC 3EI0T % a1 379e) F6 & Ug el Fehl I
1 T TR AT HYUT YeAcdIesT, & &G H Sl
ST e

a)  3cA-aTRfcTe Iy

b)  3&IUT

c) TRIoh AT

d) @rfefcas Oy & &9 & T8 AT AT §
NET e T HEH 3227 FIfUT &

a) caqETde fashE

b) facdiTamer

c) 3TeT I oTel

d) ST gfegor
afaf@a 7 O i aRdT D3 ik e gaat

&1 f3foree 3fue veraw Rutforedr &2
a)  QTEETET

b) FTaIA

) MEIHA

d)  SIATT ATSHY 3HTH ST

fArfaf@d # @ i @ farafdedrey X &
TGS & Tl T Ueh HRAT HieTorge [RASTOT AT E,
o 3m$3mser 3R R e Feure, doaR

CART HgeFd &9 & Tash [T fohar arar g
a) BYIU'S
b)  NPTEL
¢)  VIPER

d) Both NPTEL and BYJU'S
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Which of the following belong to research
ethics?

a) honesty

b) objectivity

c) integrity

d) All of the above

Reproduction, in part or whole, of one's own
previously published work without adequate
citation is known as

a) self-plagiarism

b) quotation

c) paraphrasing

d) not considered as plagiarism

The main purpose of conducting a research is
associated with

a) Professional growth
b) Financial gain

c¢) Knowledge generation
d) Training the students

Which of the following is a digital open access
repository of Indian thesis and dissertations?

a) Shodhganga

b) Sawayam

c¢) Shodhyamuna

d) National Library of India

Which of the following is an Indian online
learning platform for university-level courses,
jointly developed by IIT’s and Indian Institute of
Science, Bangalore?

a)  BYJU'S
b)  NPTEL
c)  VIPER

d) Both NPTEL and BYJU'S



83

84

85

86

87

88

frafafEd 7 & Fid 7Ra & RIS A
feforee emssdY (TkDL) % faere 3Ryt @ SsT e
a)  WTHNEIN 3R 3

b)  THAESIMREN 3R 3T

o) T el 3R TAHIS3RET

d) o TAHISIREY

............... H Icakerdr 30 9T 30 g 9T &
3k Todm 3R RS aear §

a)  HIETICHR gl

b)  UesATdCl

c) W& IS

d)  GREATEeN IR ATETchR T Xt

gENTATAT Il HeffTd T

a)  hdel eTHTE i Teh YT & GRUMH &l
AERIT Farg

b) TS T A T IaT fAsehy

) I IR H Teh AR ST

d) Teh I GHETT & 3ifds aRkome

i o, 3T g, df darfeush TReEeTa

TIRR T AT &

a) TPRIcHD TRl

b) THRIcHS IRFT

o) I IREFETT

d) feemcHs aReeyar

L I 3G AT B........ SCT BT
gfafafcag e & T

d SR, fagan

eAfaTad & & sl a7 2y gk 3 FFufaar
O SIT9] AT AIHATA R w161 ST SIT Hehell 82
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83 Which of the following is associated with the
development and management of Traditional
Knowledge Digital Library (TKDL) of India

a) CSIR and AYUSH

b) NCERT and AYUSH
c¢) UT Delhi and NCERT
d) Only NCERT

84 IN e respondent read and record the
answers of a number of questions handed over
to him
a) Interview schedule
b) Questionnaire
c) Interview guide
d) Both questionnaire and interview schedule

85 Hypothesis refers to
a)  Total guess that directs the outcome of an
experiment
b) A conclusion drawn from an experiment
c) Atentative statement about the relationship
d) Final results of a research problems

86 If the
hypothesis is accepted

is false, then alternate

a) Negative hypothesis
b)  Positive hypothesis

c)  Null hypothesis

d) Directional hypothesis

87 A USES cvveveeieenes to represent data

a) Line graph, vertical bars

b)  Bar graph, vertical bars

c) Scatterplot, horizontal bars
d) Bargraph, dots

88 Which of the following research results cannot
be applied or generalized to other situations?

a) Descriptive Research
b) Experimental Research
c) Historical Research

d) Comparative Research



89
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3TTEETe T 3 E

a) IRER @Sier

b) e #iY TATIT ST TATUTST TiSTelT

o) Tt oft govear i gears Hr @ & faw
cgafeyd sia

d) hdd Hlela'l-ach gl ST @

TR TAETOT H, Hged T TR AN T AT

JTarg

a)  100%
b) 5%

c)  50%
d)  20%

frafaf@a & & Fid Tave &7 @ geiid Farg &
EH QY & ATEIH § FIT 1T et T AT T
W®E?

S IR UL EUNED

b)  THYT AT

) 3NTHHU 30T

d)  3egHeT & foT el faed qrwor

et TSt & HTAR FATeATcH [ T
"FAAIRAT" TRt fhas e grar &2

a) 0-2FTe
b) 2-79Tel
c) 7-129"1A

d 1299 & & Y dH

STehfcreh i@t 3N IREeaAT3i & 3eags & fau
T aTT eer Y oft hgT SATAT B

a) ﬂ’fﬁﬁ?ﬂw

b)  TARWIYUTCH Jgaene

c) TUATCHS ITHETE

d) 39T Fd AU
o] 9 9

Aeafaf@a & 9 frg e & aRereusr 1 fawgor
3TTaT 18T 8l ohdT 872

a) Ao 3reaaa

b) urfaH g
c) wdetorfafey

d) Rl ema
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Research means

a) Searching again and again

b)  Finding solution to any problem

c) Systematic investigation to search for truth
of any problem

d) Only discovery of natural phenomenon

In Hypothesis testing, the level of significance is
usually chosen at

a) 100%
b) 5%

c) 50%
d 20%

Which of the following clearly demonstrate
what we are trying to achieve through the
research?

a) research title

b) research duration

c) research objectives

d) total funding for the research

According to Jean Piaget the “sensorimotor”
stage of cognitive development occurs during

a) 0-2years

b) 2-7vyears

c¢) 7-12vyears

d) 12 years to older

The research done for the study of natural laws
and phenomenon is also called as

a) Fundamental research
b)  Analytical research

c) Descriptive research
d) Applied research

In which of the following research, the
formulation of hypothesis may not be
necessary?

a) Fundamental studies
b) Experimental studies
c) Survey method

d) Historical studies



95
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HET H, Teh T ATET 18T HTTMAT Feaficady
STAANTITAT 3 3eTeht HIINIGRY T IdT o911l oh 363
BT T Teh AR T AT il §
(raTafeteh THIRIUI I THSTe! h SeThl &THT T
ST e & TolT) | I IITH Ueh GhR &l g

a) Hifore arer

b) cATEEINe 2T
c) TohdlcHe MY
d) 3eeed ey

rafef@a #§ O o9 dcffia =ar § & &
TIaR T 3f frdy e & Amad 82

a) aEgfasadr

b) fasRedr

C) qatTAd

d) faea@siaar

QYT FHEIT T I TohE U ITETR A BT 82

a) HIHATTSS YT

b) 3qcreyr geT Hr ufA

C) eMerehdT &r

d) @i $r 3ucrstrar

Arafoiad & & sl ar aféred A dia ar 3ifte
AGHI & Y FoT-CHEC 3GIVN ol BT Il & foIT
39T fhaT STaT §?

a) etall

b) etc. al.

c) etc.all

d) etal

fAIfaiad & O Fi9 T A A A1 IR TRO
ATt HATeTTcH e e & gl ¥ 33T 8?2

a) RIHASHES

b) S Oara

C) 3IHeATHIIS

d) v argeeEhT
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In class, a chemistry teacher conducts an
interview session of students (to check their
ability to understand chemical equations), with
an aim to explore their participation in the
forthcoming quiz competition. This effort is a
type of

a) Fundamental research
b) Applied research

C) Action research
d)

Longitudinal research

Which of the following refers tohow
consistently a method measures something?

a) Objectivity
b) Subjectivity
C) Predictability
d) Reliability

Selection of a research problem is based on
a) social relevance

b) amount of funding available

C) interest of the researcher

d) availability of literature

Which of the following abbreviation is used to
shorten in-text citations with three or more

authors?

a) etall
b) etc.al
C) etc. all
d) etal

Which of the following psychologist name is

associated with a theory of cognitive
development comprising of four stages?

a) Sigmund Freud

b) Jean Piaget
C) Anna Freud
d) L vygotsky



100 ftpe &Y 3aTs & T & fow gifegsr & 100 One of the most popular method used in
. statistic for “determining goodness of fit” is
YN T STl dTell T APIT AT HITH &

a) F-test a) F-test
b) t-test b) ttest
C) x2test C) x2test
d) x3test d) 3 test

19
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